C§ Next Dimension Pro Series
{ Slider

Parts Identification

A Woodgrain Millwork Company

FRAME

INTERIOR VIEW

05/22 1 SSL



f

Next Dimension Pro Series
Slider

WINDSOR  Parts Identification
A Woodgrain Millwork Company
Image Item # Description Color / Finish Spec Part #
Keeper White 558167
ET\L — Clay 558169
T‘ Black 558163
Q\J 1
Keeper Screws White 508036
#6 x 1" Screw (Qty. 2) Clay 508037
Black 508038
= i
& ‘ e 2 Rollers 558522
] White 558166
y P, Lock Clay 558168
{ £ — s Black 558162
White 508036
Lock Screws
" Clay 538037
#6 x 1" Screw (Qty. 2) Black 508038
White 900043
Clay 901043
Bronze 900043-Bz
Glazing Bead Black 900043-BK
(Prior to Jan. 2020) Tan 13' 900043-T
Ivory 900043-I
Cinnamon 900043-C
Green 900043-G
White 900043-W
White 900650
Clay 901645
Bronze 900650-Bz
o Glazing Bead Black 900650-BK
/::‘, ‘ 4 (Jan. 2020 - June 2021) Tan 13' 900650-T
v Ivory 900650-I
Cinnamon 900650-C
Green 900650-G
White 900650-W
White 900651
Clay 900652
Bronze 900651-BZ
Glazing Bead Black 900651-BK
(June 2021 - Current) Tan 13' 900651-T
Ivory 900651-I
Cinnamon 900651-C
Green 900651-G
White 900651-W

05/22

SSL



Next Dimension Pro Series
{ Slider

WINDSOR  Parts ldentification
A Woodgrain Millwork Company
Image Item # Description Color / Finish Spec Part #
= .
= L N White 13' 900042
( ’ l 5 Track Clay 13 901042
W .
W\W// White L 478051
hll 6 Weatherstrip Clay 478052
g L Black 478053
//\\\
N N - White 900270
N -
| 7 Anti-Lift Block Clay 901275
Glazing Tape White 216' Roll 394100
No Image 116" 112" Black 216'Roll 394099
White X0 9410018
) ) . White OX 9410019
Window Opening Control Device Clay X0 9410021
(Includes screws & Instructions)
N 1 o e
Black OX 9410002
Not Shown on Assembly Dwg
White 308510
0 Meeting Rail Block Clay 308511
Black 308512
2
Meeting Rail Block Screws White 508085
2 #6 x 5/8" Screw (Qty2) Clay 538080
Black 508086
2 Meeting Rail Block Screws Stainless 538196

05/22

Not Shown on Assembly Dwg

#6 x 5/8" Screw (Qty2)

SSL



	Next Dimension Pro Slider.pdf
	Next Dimension Pro Slider.pdf
	ND Pro Slider.pdf
	SSL Parts.pdf





